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Name: …………………………………

Class: 12A…

I. Mục đích yêu cầu:

1. Mục đích:



+ Nhằm giúp học sinh ôn tập hệ thống lại kiến thức đã học trong học kỳ I.


+ Hướng dẫn học sinh làm quen với các dạng bài có trong kỳ thi.

2. Yêu cầu:



+ Học sinh cần có sự chuẩn bị trước: tự xem lại ngữ pháp, từ vựng đã học, làm đề cương có kèm theo giải thích.



+ Học sinh cần học thuộc lòng các cấu trúc ngữ pháp, từ vựng, chú ý cách phát âm các từ.

II. Nội dung:

1. Pronunciation:

- The pronunciation of the ending ‘s’, ‘ed’, of some Vocabulary related to topics of Unit 3,4,5 
- Stress in two-syllable, three-syllable, more than three-syllable words.

2. Vocabulary: 

- Related to the topic you’ve learnt.
3. Grammar:

- Tenses









- Subject – verb agreement

- Reported speech 

- Passive Voice








- Relative clauses







- Conditional sentences

- wish, if only, would rather
- demand/ request … that + S + V

- It is imperative/ important … that + S +V

- It’s time + S + Ved/ It’s time for O + to V



- Word form (Adj, Adv, N)





     - Quantities  

     - Ving/ to V/ V
4. Reading: Topics of Units you’ve learnt.
- Read the passage, choose the best answers
- Read the passage; choose the best option to fill in each blank

5. Writing:

- Choose the best sentence which is rewritten from the given one.

- Combine the pairs of sentences.
- Find out parts of the sentence which need correcting.
PRACTICE TEST 1

Choose the word whose underlined part is pronounced differently from the others.

1. A. decision
B. congestion
C. renewable
D. determine
2. A. lifestyle
B. integrate
C. efficient
D. dedication
Choose the word which is stressed differently from the rest

3. A. parent
B. attempt
C. promote
D. success
4. A. fluctuate
B. important 
C. identity
D. initiate
Choose the best answer to complete each of the following sentences.

5. It turned out to be a ____ journey when the weather became bad. 


A. hazard 
B. hazardous 
C. hazarded
D. hazarding 

6. The old lady is said ______ all her money to the orphans when she died.


A. to leave
B. to have left
C. leaving
D. having left

7. Switching to ____ eco light bulb is one way to protect the environment. 


A. energy-wasting
B. energy-expending C. energy-lacking
D. energy-saving 

8. There wasn't a chair for the headmaster, ____ is a big problem. 


A. what 
B. which 
C. that
D. where 

9. The teacher _______ us to do homework before going to school.


A. promised 
B. reminded 
C. suggested 
D. invited

10. Environmentalists are supposed to _______ responsibility for environment.


A. do
B. join
C. rush
D. take

11. TV companies ____ their programmes across the country or even across the world. 


A. broadcast 
B. refresh
C. connect 
D. publish 

12. He was the only _______ that was offered the job.


A. apply 
B. application 
C. applicant 
D. applying

13. We have learned English since we ________in the grade 6.


A. are
B. were
C. had been
D. have been

14. Students use the library's computers to get access ____ the Internet. 


A. for 
B. to 
C. with
D. by 

15. He has been learning hard to prepare ________ the coming final exam.


A. for 
B. with
C. on
D. over

16. This broken window needs ________ before my father goes home.  


A. to replace 
B. to be replace 
C. being replaced 
D. replacing

17. The doctor advised ________ too much coffee.


A. me not drink
B. I don’t drink
C. me not to drink
D. me not drinking

18. I wish you ______ to my party last week, but you didn't.


A. came
B. will come
C. would come
D. had come
19. _______ more carefully, he would not have had the accident yesterday.


A. If Peter driven 

B. If had Peter driven


C. Had Peter driven 
D. Unless Peter had driven

Mark the letter A, B, C or D to indicate the option that best completes each of the following exchanges.

20.- In my opinion, a happy marriage should be based on love.


 - ____________. Love can help us overcome any difficulty and love our lives.


A. I don’t agree with you           B. I don’t think so


C. I can’t agree with you more  D. It’s not true

21. Do you fancy going to the cinema?


- “_______.”


A. I love playing sports              B. Me too!



C. Yeah! Sounds good               D. Really? I’m not that keen on watching film
Choose the word that is CLOSEST in meaning to the underlined part in each of the following questions. 

22. Each form of mass media has an important impact on society. 


A. influence 
B. pressure 
C. affection
D. role 

23. Journalists can make mistakes, so don't believe everything you read in the press. 


A. publications

B. news bulletins 




C. reference books

D. newspapers and magazines 

Choose the word that is OPPOSITE in meaning to the underlined part in each of the following questions. 

24. Her only problem is the limited experience because she is too young.


A. narrow 
B. considerable 
C. insufficient 
D . restricted 

25. 'If we continue to deplete our planets natural resources, we will damage the environment significantly. 


A. use up 
B. add to 
C. reduce
D. exhaust 

Find the mistakes.

26. I haven’t heard from Maria since a long time.
            A                   B                C                 D

27. My family have lived happy in this house for over 15 years.
                              A            B          C                    D

28. A galaxy, where may include billions of stars, is held together by gravitation            

                         A                                       B           C               D
attraction.
Read the text and answer the questions by circling the letter A, B, C, or D.

These days, most people in Britain and the US do not wear very formal clothes. But sometimes it is important to wear the right thing. 

Many British people don't think much about clothes. They just like to be comfortable. When they go out to enjoy themselves, they can wear almost anything. At theatres, cinemas and concerts you can put on what you like from elegant suits and dresses to jeans and sweaters. Anything goes, as long as you look clean and tidy. 

But in Britain, as well as the US, men in offices usually wear suits and ties, and women wear dresses or skirts (not trousers). Doctors, lawyers and business people wear quite formal clothes. And in some hotels and restaurants men have to wear ties and women wear smart dresses. 

In many years, Americans are more relaxed than British people, but they are more careful with their clothes. At home, or on holiday, most Americans wear informal or sporty clothes. But when they go out in the evening, they like to look elegant. In good hotels and restaurants, men have to wear jackets and ties, and women wear pretty clothes and smart hairstyles. 

29. Many British people wear freely when they ___________



A. attend meetings 

B. attend lectures 



C. spend their spare time 
D. meet their teachers

30. Who doesn't usually wear suits and ties? 


A. Lawyers 
B. Doctors 
C. Drivers 
D. Business people

31. If you visit an American friend at home in the evening, you may find that your friend wears__________.

A. sporty clothes 
B. informal clothes 
C. formal clothes 
D. A & B

32. What do you think the passage is mainly about? 


A. Recent dressing habits in Great Britain and the United States. 


B. The reason why informal clothing is popular in the UK and USA. 


C. When we should wear in a formal way. 



D. Where we should wear in a formal way. 

33. Which of the following sentences is TRUE?


A. American men have to wear jackets and ties in good hotels and restaurants.


B. Women in offices in Britain often wear trousers.


C. Many British people think much about clothes.


D. Men in offices in Britain and the US wear jeans.

Read the following passage and mark the letter A, B, C or D to indicate the correct answer to each of the questions. 
     In the Native American Navajo nation which sprawls across four states in the American south-west, the native language is dying. Most of its speakers are middle-age or elderly. Although many students take classes in Navajo, the schools are run in English. Street sign, supermarket goods and even their own newspaper are all in English. Not surprisingly, linguists doubt that any native speakers of Navajo will remain in a hundred years' time. 
     Navajo is far from alone. Half the world's 6,800 languages are likely to vanish within two generations - that's one language lost every ten days. Never before has the planet's linguistic diversity shrunk at such a pace. Isolation breeds linguistic diversity as a result, the world is peppered with languages spoken by only a few people. Only 250 languages have more than a million speakers, and at least 3,000 have fewer than 2,500. It is not necessarily these small languages that are about to disappear. Navajo is considered endangered despite having 150,000 speakers. 
    What makes a language endangered is not that the number of speakers, but how old they are. If it is spoken by children it is relatively safe. The critically endangered languages are those that are only spoken by the elderly, according to Michael Krauss, director of the Alaska Native Language Center, in Fairbanks. 
    Why do people reject the language of their parent? It begins with a crisis of confidence, when a small community finds itself alongside a larger, wealthier society, says Nicholas Ostler of Britain's Foundation for Endangered Languages, in Bath. “People lose faith in their culture” he says. "When the next generation reaches their teens, they might not want to be induced into the old tradition.” The change is not always voluntary. Quite often, governments try to kill off a minority language by banning its use in public or discouraging its use in school, all to promote national unity. The former US policy of running Indian reservation in English, for example, effectively put languages such as Navajo on the danger list. But Salikoko Mufwene, who chairs the Linguistics Department at the University of Chicago, argues that the deadliest weapon is not government policy but economic globalisation. "Native Americans have not lost pride in their language, but they have had to adapt to socio-economic pressures" he says. “They cannot refuse to speak English if most commercial activity is in English."

     However, a growing interest in cultural identity may prevent the direct predictions from coming true. ‘The key to fostering diversity is for people to learn their ancestral tongue, as well as the dominant language' says Doug Whalen, founder and president of the Endangered Language Fund in New Haven, Connecticut. “Most of these will ive without a large degree of bilingualism” he says.

34. It is stated in the passage that the number of endangered languages is ____.


A. about 3,200 
B. about 6,800 
C. at least 3,000 
D. fewer than 2,500 

35. The word peppered in paragraph 2 is closest in meaning to ____. 


A. randomly separated
B. slowly attacked 


C. sparsely distributed
D. unintentionally controlled 

36. According to the passage, endangered languages cannot be saved unless people ____.


A. avoid speaking their dominant language 




B. grow interest in cultural identities 


C. know more than one language





D. write in their mother tongue 

37. Who thinks that a change of language may mean a loss of traditional culture? 


A. Doug Whalen
B. Michael Krauss 
C. Nicholas Ostler
D. Salikoko Mufwene 

38. Navajo language is considered being endangered language because ____.


A. it currently has too few speakers 


B. it is spoken by too many elderly and middle-aged speakers 


C. it was banned in publicity by the former US policy


D. many young people refuse to learn to speak it 

39. Which statement is NOT supported by the information in the passage?


A. A large number of native speakers fail to guarantee the survival of a language. 


B. National governments could do more to protect endangered languages. 


C. The loss of linguistic diversity is inevitable.


D. Young people often reject the established way of life in their community. 

40. What is the main idea of this passage?


A. To describe how diverse languages are in the past. 


B. To explain the importance of persevering endangered languages. 


C. To explain why more and more languages disappear. 


D. To point out that many languages being in danger of extinction.

Read the text and choose the best options to fill in the blanks. 

         The Internet has truly transformed how students do their homework. (41) ______ homework today still means spending time in the library, it’s for a different reason. Rather than using books for research, students today are (42) ______ to the Internet to download enormous amounts of data available online. In the past, students were limited to their school’s (43) ______ of books. In many cases, they got to the   school   library   and   found   out   that   someone   had   already   taken   the   books they   needed.   Nowadays, such inconvenience can be avoided since the Internet never runs out of information. Students, however, do have to (44) ______ sure that the information they find online is true. Teachers have also benefited from the homework which is done on the Internet. They do not need to carry students’ papers around with them anymore. This is because online (45) ______ allow students to electronically upload their homework for their teachers to read and mark. Of course, this also means that students can no longer use the excuse that the dog ate their homework! 

41. A. But            
B. For        
C. While          
D. Because 

42. A. connecting 
B. linking        
C. searching        
D. looking 

43. A. select         
B. selective    
C. selectively    
D. selection 

44. A. do             
B. get              
C. make         
D. come 

45. A. materials   
B. systems         
C. structures    
D. sources 

Choose ONE sentence which is combined from the pairs of sentences.

46. She went to the bookshop. She wanted to buy some books.


A. She went to the bookshop so that to buy some books


B. She went to the bookshop in order that buy some books


C. She went to the bookshop so as to buying some books


D. She went to the bookshop to buy some books

47. Steve doesn’t pay attention in class. He doesn’t learn anything.


A. If Steve pays more attention in class, he learns more.


B. If Steve pays more attention in class, he will learn more.


C. Unless Steve pays more attention in class, he will learn more.


D. If Steve paid more attention in class, he would learn more.

Choose the best sentence which is rewritten from the given one.

48. “You mustn’t get into the area,” the policeman said. 


A. The policeman stopped them from getting into the area. 


B. The policeman denied from getting into the area. 



C. The policeman wanted them to get into the area. 


D. The policeman suggested getting into the area. 

49. People say that he committed some terrible crimes.


A. He is said committed some terrible crimes. 


B. He is said to have committed some terrible crimes.


C. He is said to commit some terrible crimes.


D. He is said to be committed some terrible crimes

50. They finished their tea and then they left.


A. They finished their tea after they had left.


B. After they had left, they finished their tea.


C. They had left before they finished their tea.


D. After they had finished their tea, they left.

PRACTICE TEST 2 

Choose the word that has the underlined part pronounced differently from the others.  

1. A. achievement
B. campaign
C. habitat
D. category

2. A. adopts
B. works
C. groups
D. wavers
Choose the word which is stressed differently from the rest

3. A. annoy
B. attract
C. major
D. increase
4. A. education
B. stimulate
C. innovation
D. independent

 Choose the best word to complete the sentence.

5. Almost all teenagers now are ________ to Facebook. They don’t like spending time playing traditional games.


A. addicted
B. excited
C. interested
D. aware

6. He seems unhappy because he doesn’t ______ his boss.


A. keep up with 
B. put up with
C. deal with
D. get on with

7. Today police launched a _______ to reduce road accidents.


A. conservation 
B. campaign
C. contest
D. championship

8. They had a really good chance of winning the national __________.


A. competitor
B. competition
C. compete
D. competitive


9. Video and computer games have also developed into a                    media form.

A. mess
B. big
C. mass
D. global
10. My sister is very responsible ______ her family_____ taking care of the children.


A. for/ for
B. to/ with
C. for/ to
D. to/ for

11. We request that she ____ the window. 


A. not open 
B. not to open 
C. not opening 
D. to not open 

12. The effects of cigarette smoking   ________ to be extremely harmful so far.


A. is proved
B. will be proved
C. are proved
D. have been proved

13. No one can avoid______ by advertisements.


A. having influenced B. being influenced C. to be influenced D. influencing

14. Roberta was the first person  ________ to speak at the meeting.

A. asked
B. to ask
C. to be asked
D. who asked

15. Most people ____ the mass media as their main source of information. 


A. rely on 
B. try on
C. put on 
D. hold on 

16. Emily said that her teacher    ________ to London ________



A. had gone/ the next day 
B. went/ the day before 



C. would go/ the following day 
D. will go/ tomorrow

17. They went to the Royal Theatre, __________they saw Shakespeare’s Hamlet.


A. whom
B. in which
C. that
D. in where

18. We didn’t have any money but Tom had_______.


A. a little 
B. a few 
C. little 
D. few

19. It is essential that this letter ______ immediately.


A. is sent
B. will be sent
C. send
D. be sent
Mark the letter A,B, C or D to indicate the option that best completes each of the following exchanges.

20. A: This dish is really nice!

      B: ________. It’s called yakitori, and it’s made with chicken livers.


A. It’s my pleasure.
B. I’m glad you like it



C. I guess you’re right
D. Sure, I’ll be glad to
21. A: Have you finished the presentation on mass media? B: ____
     A. I'll go for it.



B. I'm on my last page. 


     C. It's going to end.

 

D. It's very long.   
Choose the word that is OPPOSITE in meaning to the underlined part in each of the following questions. 

22. Nowadays, people are searching for more environmentally- friendly materials to build their houses


A. harming the environment 
B. friendly to the environment


C. protecting the environment
D. preserving the environment
23. You should concentrate on what the teacher is saying or you can’t understand the lesson.


A. pay attention to

B. take no notice of 

C. note down

D. create impression on

Choose the word that is CLOSEST in meaning to the underlined part in each of the following questions. 
24. I was feeling a bit under the weather, so I decided not to go to work. 


A. comfortable 
B. tired 
C. busy
D. unwell

25. You should raise your hand to attract your teacher’s attention in class.


A. attend
B. grab
C. pay
D. give

Choose the underlined word or phrase that needs correcting.

26. Some bacteria are extremely harmful, but others are regular used in 
      A

   
           B


                    C                            

producing foods. 

            D
27. By the end of the 21st century, scientists find cures for AIDS and cancers.

       A               B                                                C             D

28. If it didn’t rain too heavily, I will go out with you.

                A                      B                       C            D 
Read the passage below. Then choose one best answer (A), (B), (C) or (D) to each question. 

The Korean education system basically consists of primary schools, secondary schools, high schools, and colleges or universities, with graduate courses leading to PhD degrees. Primary education is compulsory for children aged six to eleven. The basic primary school curriculum is generally divided into eight subjects: the Korean language, social studies, science, mathematics, ethics, physical education, music and fine arts. Students in secondary schools are required to take a number of additional subjects such as English, and can take electives such as technical or vocational courses. Afterwards, students can choose between general education and vocational high schools. In general, high schools tend to be strict, as college and university admission is very competitive.  

29. It can be inferred that secondary school students _______   


A. have to take technical and vocational courses  

B. can choose to take a technical course or not  


C. have to take eight subjects  


D. don't have to study the Korea language  

30. Basically, the Korean education system is divided into _______  


A. five levels  
B. three levels  
C. four levels  

D. two levels  

31. According to the passage, _______   


A.  it is quite difficult to enter a college or university  


B.  most students go to vocational high schools after finishing secondary schools.  


C.  Korean high schools tend to be quite easy.  

     D.  general education is easier than vocational high schools.  

32. It can be inferred from the text that  _______  


A.  primary education is optional for children under eleven.  


B.  primary education is compulsory for children under six.  


C.  children from six to eleven have to attend secondary schools      


D.  children from six to eleven have to attend primary schools.   

33. Students in Korean primary schools  learn ________


A. mathematics

B. English 


C. information technology
D. civic education

Read the following passage and mark the letter A, B, C or D to indicate the correct answer to each of the questions.

                                         REALITY TELEVISION
   Reality, television is a genre of television programming which, it is claimed, presents unscripted dramatic or humourous situations, documents actual events and features ordinary people rather than professional actors. It could be described as a form of artificial or "heightened" documentary. Although the genre has existed in some form or another since the early year of television, the current explosion of popularity dates from around 2000. 
   Reality television covers a wide range of television programming formats, from games to quiz shows which resemble the frantic, often demeaning programmes produced in Japan in the 1980s and 1990s (a modern example is Gaki no Tsukai), to surveillance - or voyeurism - focused production such as Big Brother.

   Critics say that the term "reality television” is somewhat of a misnomer and that such shows frequently portray a modified and highly influenced form of reality, with participants put in exotic locations or abnormal situations, sometimes coach to act in certain ways by off-screen handlers, and with events on screen manipulated through editing and other post-production techniques. 
   Part of reality television's appeal is due to its ability to place ordinary people in extraordinary situations. For example, on the ABC show, The Bachelor, an eligible male dates a dozen women simultaneously, travelling on extraordinary dates to scenic locales. Reality television also has the potential to turn its participants into national celebrities, outwardly in talent and performance programs such as Pop Idol, though frequently Survivor and Big Brother participants also reach some degree of celebrity.

    Some commentators have said that the name "reality television" is an inaccurate description of several styles of program included in the genre. In competition-based programs such as Big Brother and Survivor, and other special-living-environment shows like the Real World, the producers design the format of the show and control the day-to-day activities and the environment, creating a completely fabricated world in which the competition plays out. Producers specifically select the participants, and use carefully designed scenarios, challenges, events, and settings to encourage particular behaviours and conflicts. Mark Burnett, creator of Survivor and other reality shows, has agreed with this assessment, and avoids the word "reality” to describe his shows; he has said, "I tell good stories. It really is not reality TV. It really is unscripted drama." 
34. The word demeaning in paragraph 2 is closest in meaning to ____.

A. valueless 
B. humiliating 
C. despising 
D. diminishing 

35. According to the passage, Reality TV appeals to some because ____.


A. it uses exotic locations 


B. it shows eligible men dating women 


C. it can turn ordinary people into celebrities


D. it shows average people in exceptional circumstances 

36. According to the passage, the program “Pop Idol” ____.


A. is more likely to turn its participants into celebrities than Big Brother 


B. turns all participants into celebrities 


C. is a dating show


D. is less likely to turn participants into celebrities than Big Brother 

37. Producers choose the participants ____.


A. to make an imaginary world 


B. on the ground of talent 


C. to create conflict among other things

D. only for special-living-environment shows 

38. The term “reality television” is inaccurate ____.


A. for talent and performance programs 

B. for special-living-environment program 


C. for all programs






D. for Big Brother and Survivor 

39. The word fabricated in paragraph 5 is closest in meaning to ____.


A. real
B. imaginative 
C . imaginary 
D. isolated 

40. Which of the following in NOT true according to the passage?


A. Shows like Survivor have good narratives. 


B. Mark Burnett thinks the term "reality television” is inaccurate. 


C. Reality television has been popular since well before 2000.


D. Japan has produced demeaning TV shows copied elsewhere. 

Read the passage and choose the part (A, B, C or D) that best fits each numbered blank.
   Vietnamese generally shake hands when greeting and parting. Using hands shows respect, as does a (41) ________ bow of the head. In rural areas, elderly people who do not extend their hands are greeted with a bow. Women are likely to bow the head than to shake hands. Vietnamese names (42) _______ with the family name and are followed by a given name. People address one another by their given names, but add a title that indicates their perceived relationship to the other person. These (43) _________ are family related rather than professional. And colleagues, for example, the (44) ________ of the two might combine the given name with the title of Anh (Older Brother). Classifiers for gender familiarity are also combined with the greeting. In formal meetings, business cards are sometimes (45) ___ on greeting.
41. A. light
B. slight
C. lightly
D. lighted
42. A. finish
B. finishes
C. begin
D. begins
43. A. hands
B. names
C. people
D. titles

44. A. younger
B. most young
C. youngest
D. young

45. A. changed
B. transferred
C. converted
D. exchanged
Choose ONE sentence which is combined from the pairs of sentences.
46. The moon doesn’t have the atmosphere. The planet Mars doesn’t either.


A. Neither the moon or the planet Mars has the atmosphere.


B. Either the moon nor the planet Mars has the atmosphere


C. Neither the moon nor the planet Mars has the atmosphere.


D. Either the moon or the planet Mars has the atmosphere.

47. He is late again. I don't know the reason why.


A. I don't know the reason why he is late again.



B. Why he is late again is I don't know the reason.


C. Why I don't know the reason he is late.



D. The reason why he is late again I don't know.
Choose the best sentence which is rewritten from the given one.

48.They may use this room for the classroom.


A. This room may be used for the classroom       


B. The classroom may be used for this room.


C. They may be used for the classroom.


D. This room may use for the classroom.

49.Peter regretted buying the second-hand computer.


A. Peter didn’t want to buy the second-hand computer.


B. Peter wished he didn’t buy the second-hand computer.


C. Peter wished he hadn’t bought the second-hand computer.


D. Peter was glad to buy the second-hand computer.

50."I'm sorry I have to leave so early, Nga," he said.


A. He apologised to Nga for having to leave so early.



B. He blamed Nga for having to leave so early.

C. He prevented Nga from having to leave so early.



D. He apologised to me for having to leave so early.
PRACTICE TEST 3 
Choose the word whose underlined part is pronounced differently from the others.

1. A. amusing
B. curriculum
C. subscribe 
D. university

2. A. pessimistic 
B. respectable
C. reduce
D. renewable
Choose the word which is stressed differently from the others.    

3. A. disease            
B. remove   
C. complete      
D. common              

4. A. certificate 
B. computer
C. economics
D. geography
Choose the best answer A, B, C or D.  

5. This social network- LinkedIn- basically lets you __________ with people in professional way.


A. join
B. connect
C. relate
D. combine

6. It is important for young people to ____ the identity of our culture.


A. remain 
B. retain 
C. maintain 
D. attain

7. The ways a person dresses and behaves in public are distinct examples of ________ diversity and belief patterns. 

A. culture
B. cultures
C. culturally
D. cultural

8.    It’s time for us ________learning.
A. start
B. started
C. to starting
D. to start

9. The farmer took the______ of the fine weather to do sowing. 


A. advantage  
B. profit  
C. interest   
D. charge

10. Government should have _______ solutions to protect endangered species of animals.


A. natural
B. sensitive
C.  wonderful
D. effective

11. I can’t help ______ him in spite of his faults.

A. admire
B. admiring
C. admired
D. to admire

12. I read about a woman __________ only child is dead in a tragic accident.


A. who
B. whose
C. that
D. which

13. The pilot along with his passengers _____ rescued last night.


A. were 
B. are 
C. was 
D. is

14. John was the last applicant  ________  yesterday morning.

A. interviewing
B. to interview
C. being interviewed D. to be interviewed 
15. It’s time she ___________how to look after herself.


A. learnt
B. learns
C. learn
D. learning

16. They often _______ to each other when they were young.


A. write
B. writes
C. wrote
D. was written

17. London is home to people of many _________ cultures.


A. diversity
B. diversify
C. diverse
D. diversification

18. Thanks _______ the inventions _______ labor-saving devices, women have more free time to take part _______ social work.


A. for / of / for 
B. to / of / with
C. forward / for / from 
D. to / of / in
19. If Jill were here, she ______________what to do.


A. knows
B. knew
C. would know
D. would have known

Mark the letter A,B, C or D to indicate the option that best completes each of the following exchanges.

20. "How well you are playing!"_ “_______”


A. Thank you. That’s not a nice compliment.  


B. You must be kidding. I thought it was terrible.



C. I think so. I am proud of myself.    

  
D. Say it again. I like to hear your words.

21. - Would you like something to eat?  - _________. I’m full.


A. Yes, I would
B. No, thanks
C. Yes, please
D. It’s a good idea

Choose the word that is CLOSEST in meaning to the underlined part in each of the following questions. 
22. If you are at a loose end this weekend, I’ll show you around the city.


A. free
B. confident
C. occupied
D. reluctant

23. Face-to-face socializing is not as preferred as virtual socializing among the youth.


A. Facial
B. Available   
C. Direct
D. Instant
Choose the word that is OPPOSITE in meaning to the underlined part in each of the following questions. 
24. Using social networks helps you keep in touch with friends and family any time.


A. put up with
B. lose touch with
C. keep track of
D. catch up with
25. New electronic devices have been developed to cater to users' ever-changing needs.

A. changeable 
B. stable 

C. constant 

    D. predictable
Find the mistakes.

26. Did you read the book which I lent you last week? – Yes, I have.

        A                  B               C        D
27. It was suggested that your father gave up smoking for the sake of himself.

                   A                                      B            C                                D

28. Dr. Brown, whom is a famous chemist, was born on November 3rd 1952 in 
                             A                             B                       C                                  D 

England.
Read the passage carefully and choose the correct answer.

         Doing a part-time job while studying at a university has many advantages. If students can get a job in their area of study, they are gaining valuable experience and putting their knowledge to use immediately. The extra money they can earn will be useful for their study. Also, they will have the personal satisfaction of having contributed to their own education. Moreover, they certainly feel proud of themselves that they do not quite depend on their parents. Students who need extra money can hold down a full-time temporary job during their summer holiday. 

29. Students ___________ while studying at a university.


A. must not get a part-time job 
B. cannot get a part-time job


C. can get a part-time job    
D. are unable to get a part-time job 

30. What are the advantages if students can get a job in their area of study?


A. students can get valuable experience            
    
B. students can put their knowledge to use immediately


C. students don’t have to learn


D. A & B

31. How do students feel if they can get a job while studying at a university?


A. unsatisfactory
      
B. self-satisfied and independent


C. proud of becoming rich   
D. selfish

32. Students can use the money they earn to _____________.


A. buy things that are unnecessary 
B. enjoy themselves


C. contribute to their own education 
D. take a leisure trip

33. When can students apply a full-time temporary job?


A. during their summer holiday     
B. on Christmas Day


C. in their free time       
D. on school days

Read the following passage and mark the letter A, B, C or D to indicate the correct answer to each of the questions. 
    Buying a house is the single largest financial investment an individual makes. Yet, in India this act is fraught with risk and individuals depend on weak laws for justice. Occasionally, deviant promoters are called to account as was the case in the detention of Unitech's promoters. This incident shows up the fallout of an absence of proper regulation to cover contracts between buyers and real estate promoters. A real estate bill, which is presently pending in Rajya Sabha, seeks to fill this gap. It has been debated for over two years and should be passed by Parliament in the budget session. 
    India is in the midst of rapid urbanization and urban population is expected to more than double to about 900 million over the next three decades. Unfortunately, even the current population does not have adequate housing. A government estimate in 2012 put the shortage at nearly 19 million units. If this shortage is to be alleviated quickly, India's messy real estate sector needs reforms.

    The real estate bill seeks to set standards for contracts between buyers and sellers. Transparency, a rare commodity in real estate, is enforced as promoters have to upload project details on the regulators' website. Importantly, standard definitions of terms mean that buyers will not feel cheated after taking possession of a house. In order to protect buyers who pay upfront, a part of the money collected for a real estate project is ring-fenced in a separate bank account. Also, given the uncertainty, which exists in India on land titles, the real estate bill provides title insurance. This bill has been scrutinized by two parliamentary committees and its passage now brooks no delay. 
    This bill is an important step in cleaning up the real estate market, but the journey should not end with it. State governments play a significant role in real estate and they are often the source of problems. Some estimates suggest that real estate developers have to seek approvals of as many as 40 central and state departments, which lead to delays and an escalation in the cost of houses. Sensibly, NDA government's project to provide universal urban housing forces states to institute reforms to access central funding. Without real estate reforms at the level of states, it will not be possible to meet the ambition of making housing accessible for all urban dwellers. 

34. It can be inferred from the passage that ____.


A. buying house is not a single largest individual investment 


B. in India, no one depends on laws for justice 


C. the real estate bill does not provide title insurance


D. urbanization in India has increased rapidly 

35. According to the passage, which of the following is the pending in Rajya Sabha?


A. NDA government's new scheme 
B. Universal rural housing programme 


C. Real estate bill 

D. Universal urban housing programme
36. Which of the following is NOT true according to the passage?


A. Current population does not have adequate housing in India. 


B. India's real estate sector needs reforms. 


C. Real state bill has been scrutinized by two parliamentary committees. 


D. Urban population is expected to more than double to about 850 million over the next three decades. 

37. According to the passage, what is the source of problem in real estate? 


A. Buyers and sellers
B. Central governments 


C. Market money makers
D. State governments 

38. The word possession in the third paragraph refers to ____.


A. lease 
B. need 
C. proprietary rights
D. renting 

39. The word escalation in the fourth paragraph refers to ____.


A. decrease
B. growth
C. reduction

D. sustainability 

40. It is impossible to meet the ambition of making housing accessible for urban dwellers ____.


A. with real estate reforms at state level 


B. without support of central government 


C. without passing the bill in Rajya Sabha 


D. without real estate reforms at the level of states

Read the passage and choose the best answers to the questions

When young people are asked about what (41)_____ they would like to have in the future, they often give predictable answers. Teenagers often want well-known careers like pop star, actor or actress, footballer and so on. Others want practical jobs that they see as being worthy, jobs like doctor, teacher, policeman, etc.

However, (42)_______ a job is one of the hardest things to do. Recent research shows that more than eighty per cent of people in their thirties are in different jobs (43)______the one they dreamt about when they were young. Although they may have had a clear idea of what they wanted to do, with times these ideas have changed.

It used to be easier to choose your future jobs. Boys used (44)________ in their father’s footsteps. They would take the job of their father in the same way as he had taken on the same job as his father. At least they knew what the job involved and there was a model to copy. Women used to work in secretarial jobs or caring jobs until they got (45)________. They would then give up work and have children.

So, what do you want to do when you are older?

41. A. job
B. work
C. condition
D. requirement

42. A. trying
B. making
C. choosing
D. doing
43. A. to
B. from
C. on
D. by

44. A. to follow
B. to have
C. to get
D. to receive
45. A. marriage
B. marry
C. marrying
D. married

Choose ONE sentence which is combined from the pairs of sentences.

46. He told her about the book. He liked it best. 


A. He told her about the book which he liked it best.   


B. He told her about the book which he liked best.


C. He told her about the book whom he liked best.         


D. He told her about the book whose he liked best.

47. He had saved a lot of money. He travelled to Australia.


A. Saving a lot of money, he travelled to Australia.



B. Traveling to Australia needs a lot of money.


C. Having saved a lot of money, he travelled to Australia.



D. Traveling to Australia costs him a lot of money.

Choose the best sentence which is rewritten from the given one.

48. If you hadn’t helped me, I wouldn’t have finished this work on time.


A. I didn’t finish this work on time because you don’t help me.


B. I finish this work on time because you help me.


C. But for your help, I wouldn’t have finished this work on time.


D. Without your help, I wouldn’t finish this work on time. 

49. It is important for him to do well on his exam.


A. It is important that he does well on his exam.   


B. It is important that he do well on his exam.


C. He finds it important doing well on his exam.   


D. Doing well on his exam is found important.

50. “I would like you not to go out with him, Ann” says her mother.

 
A. Ann’s mother would rather she doesn’t go out with him.   


B. Ann’s mother would rather her not to go out with him.

 
C. Ann’s mother would rather she didn’t go out with him.     


D. Ann’s mother would rather she wouldn’t go out with him.
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